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They should not give it after death — 7I0°% INRY NS R

OVERVIEW
The mwn teaches that we are not to give a n°m x> (M) vi. We find this same
ruling in a 7w elsewhere. N901N justifies the need for this duplicity.

- A5 INNY VI PNRT Y YWY KD
And the 71wn teaches us that there is no v» after death.

Mmoo anticipates a difficulty:
- 29151 XY 03 PNT (3,29 97 0pY) WHNY 30 P92 199 NYTH2T 2) DY N

Even though the mw» states explicitly in 318w "% 295 that there is no =nxY ©3

N3 so why is it necessary to repeat this here as well?!?

mooIn responds:
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Here the m1wn needs to let us know (regarding a =19nw ws that even after the

master wrote it, the 72y does not acquire it -
= HYHYN 1N YD NNV ) Y GNT (1IOMNYUN 31) NYN V) 1999N)

And even by nwR w3, the 71wn also teaches us) that even though the divorcing

husband appointed a 792 during his lifetime, nevertheless the m5w -
= %N INNRY V) YN NIN S’O”P MINY NIN ITIND 1N NN N NPNY YN KD

Is not considered to be like the husband after the husband’s death, and it should
be considered as if the husband is alive, but rather it is considered a =nR% v

7%, and it is invalid. This is what our 73wn teaches regarding n°m TIR? LI X -
= 599 NNR VI NN ONN NYNRN TPV VIN NAY 2) HY GNT 1IWNYN 0NN

And there in XY °» P75 the mwn teaches us that even though the woman

received the v while the husband was alive, nevertheless it is a 7 “nRY va
(since he said *nn oR T2 737 000, etc.) -

! mooin previously taught us (M7 7"72) that we are not 7' 0. (See footnote # 3.) The question arises what then
is the w1711 of our 73wn. Our NMvOIN discusses and resolves this issue.

% The mwn there states: D MR X2 7N ARY O AT ,AT 200 0 77,200 DR 0 .

3 If we were A7 07, then the w1 1°n would be according to »" that 7292 X177 21, or according to the 1127 that even
though all the preparations were made, nevertheless it is considered a n nR? 3. See footnote # 1. However now
that we are not 1" 07, the w70 of 7N INRY VA PR is seemingly insufficient, for we know this from wIRw " P9,

* Others omit the text in the parenthesis. See “Thinking it over’ # 2.

> In our 73w (as opposed to the 73w in WANY ») the husband/master made no indication at all that the vx should be
effective after 7n°», therefore we may have thought that since the m%w was appointed 0»n» and usually 27% 5w LW
1Mn3, the 5w should be able to give the vx even after n?wni nnon. See ‘Thinking it over’ # 1.

1
TosfosInEnglish.com



X9 1"7 "0 R, O3 .70

1NN INNR YNRYN 2N DNN YHWN 5D DNN INT WY 9130 1IIMNYN)
And in addition the 71wn there also teaches us the various expressions mentioned
there, which of them mean that the vx should be effective @a%'n# (and it is a valid
v3) and which expressions mean 1052 91K (where the v3 is invalid).

SUMMARY

Our mwn teaches that 7 RS V3 PR, even if the 79w was appointed 0>nn (and he
is not considered S¥2777 1> after 7n°n); while in WARWY » the m1wn teaches that
even if the woman received the 0> v but if the expression used indicates that it
will be effective (only) 7n TnKR? it is not a valid va.

THINKING IT OVER

1. Is there a difference between the proposed ¥17°1 in the previous mooIn ( A"YRT
ARG 7277 123 K2 "R 2200 0 DD DN ODW mRIwY avwa Ih IR PYa uaw
an*n), and the w10 of this ®mooIN ( NYAY 2wWR XY MHWT N2 WA ATRY AYRT
TN NRY VA W ROR 0P MRV RIT 12K 1A IR 1NI0I)?

2. What is the reason to retain or to omit’ the words in the parenthesis?®

3. mooIn states that 5w 1°°12 101 "HW A"YRT, nevertheless MR 1M N7 W R
51 1. However one of the explanations in the previous Moown was that the mbw
took it after 7n°» (and that is why he cannot be 71217 for the 7wy 72v), indicating
that if he took it 2>’rn he would be 71917 for the 72¥, meaning that he is considered a
7722p% 5w for the 72y, but not a m>Ww of the master, so how can MdoIN here state
that 21 %W N2 nnw 2"YRT (the master did not appoint him as the master’s 2w
but rather 72377 mHw)?!°

% See footnote # 5.

7 See footnote # 4.

¥ See 717 7> and n"n1.

? See X"y " and "nx # 23.
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